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import numpy as np
import matplotlib.pyplot as plt

N=8

# Step 1: Create the F matrix(1D Transform)
F = np.zeros((N, N), dtype=complex)

for n in range(N): -
for k in range(N): :F B 1 Wnk 3 1 e—jZW”nk
F[n; k] = np.exp(-lj * 9 % npp| / N *n* k) : — _\/ﬁ N - J

# Step 2: (list of lists in Python)
A = [[None for _inrange(N)] for _in range(N)]
for uin range(N):
for vin range(N):
Alul[v] = np.outer(F[:, ul, F[v, :]) # Outer product
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import numpy as np | (JL)J) -
import matplotlib.pyplot as plt

f =np.zeros((128, 128))
f[:, 60:70] =1
plt.imshow(f, cmap='gray’) Reconstructed

F = np.fft.fft2(f)
S2 = np.log(1 + np.abs(F))

Fc = np.fft.fftshift(F)
plt.imshow(np.log(1 + np.abs(Fc)), cmap='gray’)
plt.title('Log of Abs of shifted version')

Original Log of Abs of F Log of Abs of shifted version Phase Angle
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# Create the 128x128 array with ones in the specified range
f = np.zeros((128, 128))
f[ 60:70, :]=1

Original Log of Abs of F Log of Abs of shifted version

Phase Angle Reconstructed
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# Create the 128x128 array with ones in the specified range
f =np.zeros((128, 128))
f[58:68,58:68]=1

Original Log of Abs of RLog of Abs of shifted version
Phase AngI Reconstructed
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NS (b)lay



Wl Mo —

F (32,32) x

-133. — 279.i

Qb pol ;| 655wl U ot (5wl

(0.0 bY.) 19(0.1097) loo(PZ)

1q

}0I05 (is)la)
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Img = cv2.imread('images/lena.tif', cv2.IMREAD_GRAYSCALE)
plt.imshow(Img,cmap='gray')

Img=torch.tensor(Img)
FiImg = torch.fft.fft2(Img)
FiImgc = torch.fft.fftshift(FImg)

plt.imshow(torch.loglp(torch.abs(FImgc)),cmap='gray’)
plt.imshow(torch.fft.ifft2(FImg).real,cmap="gray’)

original Shifted Fourier Transform Reconstructed
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# Create a mask

rows, cols = f.shape

mask = np.zeros((rows, cols), dtype=np.float32)

MskWd = int(rows * 0.1/ 2) # Calculate mask width
mask[rows//2-MskWd:rows//2+MskWd, cols//2-MskWd:cols//2+MskWd] = 1

# Display the mask
plt.subplot(132)
plt.imshow(mask, cmap='gray’)
plt.title("Mask')

plt.axis('off')

P03 J0jls)



Original

mask
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Compressed Image




# Loop through increasing mask sizes
for k in range(1, rows // 2, 2):
# Create the mask
mask = np.zeros((rows, cols), dtype=np.float32)
MskWd = k
mask[rows // 2 - MskWd:rows // 2 + MskWd + 1, cols // 2 - MskWd:cols // 2 + MskWd + 1] = 1

# Apply the mask
compressed_F = np.fft.fftshift(F) * mask
compressed_image = np.real(np.fft.ifft2(np.fft.ifftshift(compressed_F)))

# Display the mask
plt.subplot(1, 2, 1)
plt.imshow(mask, cmap='gray')
plt.title(f*Mask Size: {k * 2}")
plt.axis('off')

# Display the compressed image
plt.subplot(1, 2, 2)
plt.imshow(compressed_image, cmap='gray')

plt.title("Compressed Image") % &‘B
plt.axis('off')
€q
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# Create the binary image (JLL{) S
f = np.zeros((126, 128), dtype=np.float32)

f[62:, :] = 255

# Perform OD FFT

F = np.fft.fft2(f)

# Create a Gaussian low-pass filter S

sig=3
H = Ipfilter(‘'gaussian’, 128, 128, sig) -
# Apply the filter in the frequency domain

G=H*F
# Perform the inverse FFT
g = np.real(np.fft.ifft0(G))

Qriginal LPF centered LPF
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SoRls OWgle3ls =—

OWYlels  sabyly xSy JGSuw  sliles ¢
0olgd 1S b @ ¢ Cwl hd Sy @ xR
.l (5223 ay PWeIEE wlius (sa@igs (WIS

«soR omweleis» )1 DFET holg) )s aslatwl (sl o
QW8 d3aTw)

1 Cawl o)l soRbs § ha pwgledls (selw sy °
«pd Al g ol JESw gu)ils gy (sojlsdl skl
A0 G035 bd BigledlS Juwols (so)lsil a

150 C0 Ko (isghidl § ala1s o)

.l b adelgils Jslas (M+A-1)x(N+B-1) gl b sopsls abelgils

Yo
P03 J0jls)



Mo gl -—

f(m,n) 0<m<M -1 0<n<N -1

f,(m,n)=
0 M<m<M,;, N<=<n<N,

h(m,n) 0<mM<A-1 0<n<B-1
h.(m,n) =
0 A<m<M,, B<n<N,
M,=M +A-1 N,=N+B-1

0 ssgﬁy(,,o Jlacl h o f s Wolile (swBYs * &
1 o) ) 2)0s B 3 awwlas Lglils abglyls

Qi (0 AT8)S JB)
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(c..sls)) yo1o oljdl =—

f(m,n) 0<m<M -1 0<n<N -1
f,(m,n) =
0 M<m<M;, N<n<N,
M x N
h AxB
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(c..sls)) yo1o oljdl =—

' h(m,n) 0<m<A-1 0<n<B-1
h,(m,n) =
0 A<ms<M, B<n<N,
' A
M x N
h AxB
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Oni5)8 (52)0a 1> WYY sawlas =—
f (m,n)*h(m,n) ={f.(m,n) ®h,(m,n)}

:ZZfe(k,l)he(m—k,n—l)< L5 F (u,v).H, (u,v)

k=0 1=0

It X (@) =Fx(n)},  H(w)=F{h(n)}
y(n) = i x()h(n-1) = x(n)*h(n)

F{y(n)}= Zx(k)h(n K)}= Z[Z x(k)h(n-k)e " n-k

o0

Z Z x(k)h(m)e "™ = X (0)H (o)
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30y sbas =

f (m,n)*h(m,n) ={f.(m,n) ®h,(m,n)}

:ZZfe(k,l)he(m—k,n—l)< L5 F (u,v).H,(u,v)

k=0 1=0

f.(m,n)*h (m,n)«="—>F @Uuyv)H, U,y)

fo(m,n)h, (m,n)«———{F (uyv)*H, Uuyv)}

303 3 lod (Juil5)8 (5 2)98 )3 LN Jslas plEs ls) (52195 )3 BGIELS

Gl guil5)d (5 8j98 )3 PWYPRE Jslas plEs pls) (58)98 )3 LIS
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# Calculate padded size

PQ = paddedsize(f.shape)

# Zero-pad the image and perform 2D FFT
F = np.fft.fft2(f, PQ)

# Create a Gaussian low-pass filter

sig=5

H = Ipfilter(‘'gaussian’, PQ[0], PQ[1], 2 * sig)
# Apply the filter in the frequency domain
G = np.fft.fftshift(H) * F

Full Padded result Filtered
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Frequency domain filtering operation
Filter
Fourier
—— > function
transform H(u,v) ‘
F(u,v) H(u,v)F(u,v)
Pre-
processing

f(x,y)
Input

phs Jlacl Guwl Sy 183 3)0.0 (S0)8id a5 (53)190 )
PN )5 ) Obwlas Bla) & guiE)s (saisls )

] )13)94)
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Images taken from Gonzalez & Woods, Digital Image Processing (2002)

Low Pass Filter

Hiu, v)
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\ ¢‘/— Origin
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Padded Lowpass Filter in
the Spatial domain

Result of filtering with padding
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Hiu. v)

ab ¢

image. (¢) Filter radial cross section.

Hu, v)

]

—= 1

D u, v)

FIGURE 4.10 (a) Perspective plot of an ideal lowpass filter transfer function. (b) Filter displaved as an
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f = cv2.imread('images/cameraman.tif', cv2.IMREAD GRAYSCALE).astype(np.float32)

PQ = paddedsize(f.shape)
F = np.fft.fft2(f, s=PQ)

sig =50

Hc = Ipfilter(‘ideal’, PQ[O0], PQ[1], sig)
H=np.fft.fftshift(Hc)
G=H*F

g = np.real(np.fft.ifft2(G))

g = g[:f.shape[0], :f.shape[1]]
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radial cross sections for various values of D,

=D, v)

(a) Perspective plot of a GLPF transfer function. (b) Filter displaved as an image. (¢) Filter
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PQ = paddedsize(f.shape)

F = np.fft.fft2(f, s=PQ)

sig =50

Hc = Ipfilter(‘guassina’, PQ[0], PQ[1], sig)
H=np.fft.fftshift(Hc)

G=H*F

g = np.real(np.fft.ifft2(G))

g = g[:f.shape[0], :f.shape[1]]







Images taken from Gonzalez & Woods, Digital Image Processing (2002) -
dLu) -

fax transmissions

ab

Historicalty, certain computer Historically, certain computer
(a) Sample text of programs were written using programs were written using
ﬂ:’::tirﬁ:::i‘:}ﬁ:”” only two digits rather than only two digits rather than
characters in four to define the applicable four to define the applicable
:‘l‘”‘ﬂR”:":‘l*]‘]“{ :fj?’“’}" year. Accordingly, the year. Accordingly, the
filtering with a company's software may company's software may
(_;L[TFL“’“*“" recognize a date using "00" recognize a date using "00"
:E;i;;i;]ﬁ:“.urL. as 1900 rather than ﬂ%r as 1900 rather than tw
joined). 2000. 2000. %
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Images taken from Gonzalez & Woods, Digital Image Processing (2002)

ab ¢ :, &
(a) Original image (1028 X 732 pixels). (b} Result of filtering with a GLPF with D, = 100, >

(c) Result of filtering with a GLPF with D, = 5. Note reduction in skin fine lines in the magnified sections

aof (b) and (c).
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Images taken from Gonzalez & Woods, Digital Image Processing (2002)

(a) Image showing prominent scan lines. (b) Result of using a GLPF with D, = 30. (¢) Result

of using a GLPF with D, = 10. (Original image courtesy of NOAA.)
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Hiah Pass Filter

f = imread('cameraman.tif');
imshow (£, [1) ;

PQ=paddedsize (size(f)) ;
F=f£ft2 (£,PQ(1) ,PQ(2)) ;
sig=50;
H=1lpfilter('ideal' ,PQ(1l) ,PQ(2),siqg);
Hh=1-H;

figure;

imshow (fftshift (Hh), []) ;
G=Hh. *F;

g=real (1fft2(G)) ;

g=g(l:size(f,1),1l:size(f,2));
Figure;imshow (g, []);
Figure;imshow (abs(g),[]) ;
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# Load the image

f = cv2.imread('images/cameraman.tif’,
cv2.IMREAD GRAYSCALE).astype(np.float32)
# Create a Sobel filter (transpose for vertical
edges)

h = np.array([[1, O, -1], [2, O, -2], [1, O, -1]],
dtype=np.float32)

# Calculate the padded size

PQ = paddedsize(f.shape)

# Perform 2D FFT of the image

F = np.fft.fft2(f, s=PQ)

# Compute the frequency response of the
Sobel filter

H = freqz2(h, PQ[0], PQ[1])

Hc = np.fft.fftshift(H)

g

ey Al |

P03 J0jls)



OB-p)lo) s alsls

}0I05 (is)la)



	Slide 0: پردازش تصاویر دیجیتال (بخش پنجم)
	Slide 1: فهرست مطالب
	Slide 2: فرآيند محاسبه‌ی DFT
	Slide 3: تبديل فوريه گسسته(ادامه...)
	Slide 4: متناوب نمودن تصوير
	Slide 5: تبديل گسسته‌ی يک بعدی
	Slide 6: ماتريس تبديل
	Slide 7: ماتريس تبديل يک‌بعدی (چهارنمونه)
	Slide 8: ماتريس تبديل يک‌بعدی (ادامه...)
	Slide 9: ماتريس تبديل يک‌بعدی (ادامه...)
	Slide 10: ماتريس تبديل يک‌بعدی (مثال)
	Slide 11: ماتريس تبديل يک‌بعدی (چهارنمونه)
	Slide 12: تبديل معکوس
	Slide 13
	Slide 14: تبديل فوريه دوبعدی گسسته
	Slide 15: خاصيت جدايي‌پذيری تبديل فوريه
	Slide 16: تصاوير پايه
	Slide 17: تصاوير پايه
	Slide 18: به دست آوردن تصاير پايه
	Slide 19: تصاوير پايه
	Slide 22: نکات
	Slide 23: نکات
	Slide 24: دامنه‌ی فرکانس سيگنال‌های زمان‌گسسته
	Slide 25
	Slide 26
	Slide 27: تاثير فاز
	Slide 28: تصاوير پايه
	Slide 29: مثال ۱
	Slide 31: مثال ۲
	Slide 33: مثال ۳
	Slide 34
	Slide 37: خصوصيات تبديل فوريه
	Slide 38: تصاوير پايه
	Slide 39: تصاوير پايه
	Slide 40: مثال ۴
	Slide 45
	Slide 47
	Slide 49
	Slide 50: مثال (ادامه...)
	Slide 51: انتقال در حوزه‌ی زمان و فرکانس
	Slide 52: انتقال دايروی
	Slide 53: چرخش در حوزه‌ی زمان
	Slide 54: مثال
	Slide 55: تغيير مقياس
	Slide 56: تغيير مقياس(ادامه...)
	Slide 57: اعمال فيلتر در دامنه‌ی فرکانس
	Slide 58: تابع ضربه
	Slide 59: تابع ضربه (ادامه...)
	Slide 60
	Slide 61: سيستم خطی و تغييرناپذير با زمان 
	Slide 62:  ادامه...
	Slide 63: مثال
	Slide 64: مثال (ادامه...)
	Slide 65: مثال (ادامه...)
	Slide 66: مثال (ادامه...)
	Slide 67: مثال (ادامه...)
	Slide 68: مثال (ادامه...)
	Slide 69: مثال (ادامه...)
	Slide 70: کانولوشن دوبعدی
	Slide 71: کانولوشن دوبعدی(ادامه...)
	Slide 72: مثال
	Slide 74: مثال (ادامه....)
	Slide 75: کانولوشن دايروی
	Slide 76: افزايش صفر
	Slide 77: افزايش صفر (ادامه...)
	Slide 78: افزايش صفر (ادامه...)
	Slide 79: محاسبه‌ی کانولوشن در حوزه‌ی فرکانس
	Slide 80: فضای دوبعدی
	Slide 81: مثال
	Slide 83: مثال(ادامه...)
	Slide 84: اعمال فيلتر در دامنه‌ی فرکانس
	Slide 85
	Slide 86
	Slide 87: مراحل اعمال فيلتر در دامنه‌ی فرکانس
	Slide 88: مثال
	Slide 89: فيلتر ايده‌آل
	Slide 90: اعمال فيلتر ايده‌آل
	Slide 92
	Slide 93
	Slide 94: فيلتر پايين‌گذر گاوسی
	Slide 95: فيلتر پايين‌گذرگاوسی
	Slide 96: اعمال فيلتر گوسی
	Slide 98
	Slide 99: مثال
	Slide 100: مثال
	Slide 101: مثال
	Slide 102: فيلتر بالاگذر
	Slide 104
	Slide 107
	Slide 108: به دست آوردن معادل فيلتر
	Slide 110

